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Focus: Mechanics Content knowledge (kinematics, graphing)
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Security Warning!

Students may not have unsupervised access to this assessment instrument!
It takes many years to create and validate reliable assessment instruments.
If students can access and study from them, these instruments lose their validity.

Please do not:
o allow students to keep copies of this instrument
» post this instrument on a website without security to prevent copying, downloading or sharing
o share this instrument with anyone who hasn't agreed to these guidelines

How to give the test

Give it as both a pre- and post-test. This measures student learning.

o Give the pre-test before you cover relevant course material.

o Give the post-test at the end of the term.
Use the whole test, with the original wording and question order. This makes comparisons with other classes
meaningful.

Make the test required, and give credit for completing the test (but not correctness). This ensures maximum
participation from your students.

Tell your students that the test is designed to evaluate the course (not them), and that knowing how they think will
help you teach better. Tell them that correctness will not affect their grades (only participation). This helps alleviate
student anxiety.

Refer to the test by a generic title like "Mechanics Survey" to prevent students from looking up the answers.
For more details, read the PhysPort Guides on implementation:

o PhysPort TUG-K implementation guide (www.physport.org/implementation/TUGK)

o PhysPort Expert Recommendation on Best Practices for Administering Concept Inventories

(www.physport.ora/expert/AdministeringConceptinventories/)

How to score the test

Download the answer key from PhysPort (https://www.physport.ora/key/TUGK)

Each student's score is their percentage correct out of 26 questions.

See the PhysPort Expert Recommendation on Best Practices for Administering Concept Inventories for
instructions on calculating normalized gain and effect size

(www.physport.ora/expert/AdministeringConceptinventories/)

Use the PhysPort Assessment Data Explorer for analysis and visualization of your students' responses

(www.physport.org/explore/TUGK)

TUG-K ©2010 Bob Beichner. PhysPort cover sheet ©2016 PhysPort.org
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